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Combination Circuits 
 

Read from Lesson 4 of the Current Electricity chapter at The Physics Classroom:    
 

 http://www.physicsclassroom.com/Class/circuits/u9l4d.html 
 

MOP Connection: Electric Circuits:  sublevel 12 
 

1. Review:   Determine the equivalent resistance for the following sets of resistors. 
 

 
 

 
 

  
 

2. The circuits below are known as combination or compound circuits;  they are composed of resistors 
that are arranged both in parallel with each other as well as other resistors arranged in series with 
each other.  In each circuit, the resistors that are arranged in parallel have the same resistance value.  
For each combination circuit shown below, determine the equivalent resistance for the combination 
of three resistors, the total current (i.e., at the battery), and the current at each of the three indicated 
locations. 

 
 

 
 

 Req =   Req =   
 

 Itot  =   Itot =   
 
 

 
 

 Req =   Req =   
 

 Itot  =   Itot =   
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Circuit Analysis 
 

Read from Lesson 4 of the Current Electricity chapter at The Physics Classroom:    
 

 http://www.physicsclassroom.com/Class/circuits/u9l4b.html 
 http://www.physicsclassroom.com/Class/circuits/u9l4c.html 
 http://www.physicsclassroom.com/Class/circuits/u9l4d.html 
 

MOP Connection: Electric Circuits:  sublevel 11 
 

1. Fill in the blanks in the following diagram.  Show appropriate units. 
 

 
 

VTot = 60.0 V 
 

R1 = 12.5 Ω R2 = 14.7 Ω R3 = 19.1 Ω 

RTot=   ITot =   
 
 
∆V1=   I1 =   
 
 
∆V2=   I2 =   
 
 
∆V3=   I3 =   
 

 
2. Fill in the blanks in the following diagram.  Show appropriate units.    
 

 
 

VTot = 60.0 V 
 

R1 = 12.5 Ω R2 = 14.7 Ω R3 = 19.1 Ω 

RTot=   ITot =   
 
 
∆V1=   I1 =   
 
 
∆V2=   I2 =   
 
 
∆V3=   I3 =   

 
3. Fill in the blanks in the following diagram.  Show appropriate units. 
 

 
 

VTot = 120.0 V 
 

R1 = 16.0 Ω R2 = 16.0 Ω R3= 6.0 Ω 

RTot=   ITot =   
 
 
∆V1=   I1 =   
 
 
∆V2=   I2 =   
 
 
∆V3=   I3 =   
 
 

 


